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1 #include <
2 #include

<stdio h>

0000
<sys,/sc jckeT h>

3 #Hinclude <
4 #include
5.int main(void)

-.:Trmq h>
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7. int sock;

8 inti;

Q. struct sockaddr_in svaddr;

10. const char msg[] = "Helloll";

11. if {[sock = socket(PF_INET, SOCK_STREAM, IPPROTO_TCP)) < 0)
12.  puts("socket{) failed.");

13. returnl;

Ve o
14. }
15. memset(&svaddr, 0, sizeof(svaddr)); FEq g
16. svaddr._sin_family = AF_INET;

;. dr.hl ﬂddr.: ﬂddrl = ﬂddr“ R2.168.1. I:li'
h : %

18. svaddr_sin_port = htons(30000);

19. if (connect(sock, (struct sockaddr®)&svaddr,
20.  sizeof(svaddr))< 0) {

21.  puts("connect() failed.");
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25 if (send(sock, msg, strlen(msg), 0) 1=
26. strlen{msg)) {

27. puts("send() failed.");

28. exit(3);

29 1

30. }

31 .close(sock);

32. return 0;

33}



